# An Operator Norm Independent Solution of Monotone Variational Inclusion Problem in Hilbert Space 

Ferdinard Ogbuisi fudochukwu@yahoo.com

Oluwatosin Mewomo

mewomoo@ukzn.ac.za


#### Abstract

In this paper, we introduce a general iterative algorithm that does not require any knowledge of the operator norm for approximating a solution of a split monotone variational inclusion problem which is also a common element of the set of fixed points of a finite family of strictly pseudocontractive mappings. Furthermore a strong convergence theorem for approximating a common solution of a monotone variational inclusion problem and a fixed point problem of a finite family of strictly pseudocontractive mappings, which is also a solution of some variational inequality problems was stated and proved in the frame work of Hilbert spaces




Proceedings of the Southern Africa Mathematical Sciences
Association (SAMSA2016), Annual Conference, 21-24 November 2016, University of Pretoria, South Africa
http://samsa-math.org/

# AN OPERATOR NORM INDEPENDENT SOLUTION OF MONOTONE VARIATIONAL INCLUSION PROBLEM IN HILBERT SPACE 

Ferdinard Ogbuisi ${ }^{1,2, t, \ddagger}$ and Oluwatosin Mewomo ${ }^{3, *, t, \ddagger}$<br>1 University of KwaZulu-Natal, South Africa; 215082189@stu.ukzn.ac.za<br>2 DST-NRF Centre of Excellence in Mathematical and Statistical Sciences (CoE-MaSS); 215082189@stu.ukzn.ac.za, fudochukwu@yahoo.com<br>3 University of KwaZulu-Natal, South Africa; mewomoo@ukz.ac.za<br>* Corresponding author: mewomoo@ukzn.ac.za<br>$\dagger$ University of KwaZulu-Natal, South Africa<br>$\ddagger$ These authors contributed equally to this work.

Editors: Farai Nyabadza, Sandile Motsa, Simon Mukwembi and Michael Chapwanya Received: 16 November 2016; Accepted: 20 December 2016; Published: 17 May 2017


#### Abstract

In this paper, we introduce a general iterative algorithm that does not require any knowledge of the operator norm for approximating a solution of a split monotone variational inclusion problem which is also a common element of the set of fixed points of a finite family of strictly pseudocontractive mappings. Furthermore a strong convergence theorem for approximating a common solution of a monotone variational inclusion problem and a fixed point problem of a finite family of strictly pseudocontractive mappings, which is also a solution of some variational inequality problems was stated and proved in the frame work of Hilbert spaces.


Keywords: $\kappa$-pseudocontractive; Hilbert space; Split monotone variational inclusion; Fixed point; Bounded linear operator; Strong convergence.

MSC: Subject classification 47H06, 47H09, 47J05, 47J25.

## 1. Introduction

Let $H$ be a real Hilbert space and $K$ a nonempty, closed and convex subset of $H$. A mapping $T: K \rightarrow K$ is said to be nonexpansive if

$$
\begin{equation*}
\|T x-T y\| \leq\|x-y\| \forall x, y \in K \tag{1}
\end{equation*}
$$

$T: K \rightarrow K$ is said to be a contraction if there exists $L \in(0,1)$ such that

$$
\begin{equation*}
\|T x-T y\| \leq L\|x-y\|, \forall x, y \in K, \tag{2}
\end{equation*}
$$

and $T: K \rightarrow K$ is said to be $\kappa$-strictly pseudocontractive in the sense of Browder and Petryshyn [4] if for $0 \leq \kappa<1$,

$$
\begin{equation*}
\|T x-T y\|^{2} \leq\|x-y\|^{2}+\kappa\|(I-T) x-(I-T) y\|^{2} \forall x, y \in K . \tag{3}
\end{equation*}
$$

Clearly (3) is equivalent to

$$
\begin{equation*}
\langle T x-T y, x-y\rangle \leq\|x-y\|^{2}-\frac{1-\kappa}{2}\|(I-T) x-(I-T) y\|^{2} \tag{4}
\end{equation*}
$$

See [1,4,21,31] and references therein, for more details on strictly pseudocontrative mappings. The set of fixed points of $T$ is the set $F(T)=\{x \in K: T x=x\}$.

A bounded linear operator $D$ on $H$ is called strongly positive if there exists $\bar{\delta}>0$ such that

$$
\langle D x, x\rangle \geq \bar{\delta}\|x\|^{2}, \quad \forall x \in H
$$

Let $K$ be a nonempty closed and convex subset of a real Hilbert space $H$. The metric projection from $H$ onto $K$ denoted by $P_{K}$, is the the map that assigns to each $x \in H$ the unique point $P_{K} x \in K$ with the property

$$
\left\|x-P_{K} x\right\|=\inf \{\|x-y\|, \forall y \in K\}
$$

The following also holds for $P_{K}$ :
(i). $P_{K}$ is nonexpansive.
(ii). $\left\langle y-P_{K}(x), x-P_{K}(x)\right\rangle \leq 0, \forall x \in H, y \in K$.

Let $f: H \rightarrow H$ be a single valued nonlinear mapping and let $M: H \rightarrow 2^{H}$ be a set valued mapping. The Monotone Variational Inclusion Problem (MVIP) is to find $x \in H$ such that

$$
\begin{equation*}
0 \in f(x)+M(x) \tag{5}
\end{equation*}
$$

where 0 is the zero vector in $H$. The set of solutions to the MVIP (5) is denoted by $I(f, M)$. If $f \equiv 0$, then MVIP (5) reduces to the following Variational Inclusion Problem (VIP): find $x \in H$ such that

$$
\begin{equation*}
0 \in M(x) \tag{6}
\end{equation*}
$$

For further details on VIP see for example [27] and some of the references therein.
A mapping $T: H \rightarrow H$ is said to be
(i) monotone, if

$$
\langle T x-T y, x-y\rangle \geq 0, \quad \forall x, y \in H
$$

(ii) $\alpha$-strongly monotone, if there exists a constant $\alpha>0$ such that

$$
\langle T x-T y, x-y\rangle \geq \alpha\|x-y\|^{2}, \forall x, y \in H
$$

(iii) $\beta$-inverse strongly monotone( $\beta$-ism), if there exists a constant $\beta>0$ such that

$$
\langle T x-T y, x-y\rangle \geq \beta\|T x-T y\|^{2}, \quad \forall x, y \in H
$$

(iv) firmly nonexpansive, if

$$
\langle T x-T y, x-y\rangle \geq\|T x-T y\|^{2}, \quad \forall x, y \in H
$$

A set valued mapping $M: H \rightarrow 2^{H}$ is called monotone if for all $x, y \in H$ with $u \in M(x)$ and $v \in M(y)$ then

$$
\langle x-y, u-v\rangle \geq 0
$$

A monotone mapping $M$ is said to be maximal if the graph of $M$, denoted by $G(M)$ is not properly contained in the graph of any other monotone mapping, where for multi valued mapping $M$,

$$
G(M)=\{(x, y): y \in M(x)\}
$$

It is well known that $M$ is maximal if and only if for $(x, u) \in H \times H,\langle x-y, u-v\rangle \geq 0$ for all $(y, v) \in G(M)$ implies $u \in M(x)$. The resolvent operator $J_{\lambda}^{M}$ associated with $M$ and $\lambda$ is the mapping $J_{\lambda}^{M}: H \rightarrow H$ defined by

$$
\begin{equation*}
J_{\lambda}^{M}(x)=(I+\lambda M)^{-1} x, \quad x \in H, \lambda>0 \tag{7}
\end{equation*}
$$

It is a common knowledge that the resolvent operator $J_{\lambda}^{M}$ is single valued, nonexpansive and 1-inversely monotone (for example see [3]) and the solution of (5) is a fixed point of $J_{\lambda}^{M}(I-\lambda f), \quad \forall \lambda>0$ (see for example [17]). If $f$ is $\mu$-inversely strongly monotone mapping with $0<\lambda<2 \mu$, then clearly $J_{\lambda}^{M}(I-\lambda f)$ is nonexpansive and $I(f, M)$ is closed and convex.

Let $H_{1}$ and $H_{2}$ be real Hilbert spaces. Let $f_{1}: H_{1} \rightarrow H_{1}, f_{2}: H_{2} \rightarrow H_{2}$ be inverse strongly monotone mappings and $B_{1}: H_{1} \rightarrow 2^{H_{1}}, B_{2}: H_{2} \rightarrow 2^{H_{2}}$ be maximal monotone mappings. Let $A: H_{1} \rightarrow H_{2}$ be a bounded linear mapping. The Split Monotone Variational Inclusion Problem (SMVIP) is to find $x^{*} \in H_{1}$ such that

$$
\begin{equation*}
0 \in f_{1}\left(x^{*}\right)+B_{1}\left(x^{*}\right) \tag{8}
\end{equation*}
$$

and

$$
\begin{equation*}
y^{*}=A x^{*} \in H_{2} \text { such that } 0 \in f_{2}\left(y^{*}\right)+B_{2}\left(y^{*}\right) \tag{9}
\end{equation*}
$$

We shall denote by $\Omega$ the solution set of (8) - (9), that is

$$
\Omega=\left\{x^{*} \in H_{1}: 0 \in f_{1}\left(x^{*}\right)+B_{1}\left(x^{*}\right) \text { and } y^{*}=A x^{*} \in H_{2} \text { such that } 0 \in f_{2}\left(y^{*}\right)+B_{2}\left(y^{*}\right)\right\} .
$$

Moudafi in [23] first introduced the SMVIP (8) - (9) and proposed an iterative method for solving it. In [23], Moudafi noted that the SMVIP is a generalisation of the split fixed point problem, split variational inequality problem, split zero problem and split feasibility problem (see [7-10,15,23-26,29]), which have been studied extensively by many authors and applied to solving many real life problems such as modelling intensity-modulated radiation therapy treatment planning [9,10], modelling of inverse problems arising from phase retrieval and sensor networks in computerised tomography and data compression $[6,11]$.

Suppose $f_{1} \equiv 0$ and $f_{2} \equiv 0$ in SMVIP (8) - (9), we obtain the following Split Variational Inclusion Problem (SVIP): Find $x^{*} \in H_{1}$ such that

$$
\begin{equation*}
0 \in B_{1}\left(x^{*}\right) \tag{10}
\end{equation*}
$$

and

$$
\begin{equation*}
y^{*}=A x^{*} \in H_{2} \text { such that } 0 \in B_{2}\left(y^{*}\right) \tag{11}
\end{equation*}
$$

Let the solution set of (10)-(11) be denoted be $\Omega_{B}$.
Byrne et al. [7] using the following iterative scheme: for a given $x_{0} \in H_{1}$ the sequence $\left\{x_{n}\right\}$ generated iteratively by;

$$
x_{n+1}=J_{\lambda}^{B_{1}}\left(x_{n}+\gamma A^{*}\left(J_{\lambda}^{B_{2}}-I\right) A x_{n}\right), \quad \lambda>0
$$

obtained a weak and strong convergence theorem for solving SVIP (10)-(11). Inspired by the work of Byrne et al., Kazmi and Rizvi [16] proposed the following algorithm for approximating a solution of SVIP (10)-(11) which is a fixed point of a nonexpansive mapping $S$ : for a given $x_{0} \in H_{1}$, let the sequences $\left\{u_{n}\right\}$ and $\left\{x_{n}\right\}$ be generated by

$$
\left\{\begin{array}{l}
u_{n}=J_{\lambda}^{B_{1}}\left(x_{n}+\gamma A^{*}\left(J_{\lambda}^{B_{2}}-I\right) A x_{n}\right)  \tag{12}\\
x_{n+1}=\alpha_{n} f\left(x_{n}\right)+\left(1-\alpha_{n}\right) S u_{n}, n \geq 0
\end{array}\right.
$$

and proved that both $\left\{u_{n}\right\}$ and $\left\{x_{n}\right\}$ converge strongly to $z \in F(S) \cap \Omega_{B}$. . For more on variational inclusion problem see [18,19].
Shehu and Ogbuisi [28] stated and proved the following theorem for solving SMVIP.
Theorem 1. Let $H_{1}$ and $H_{2}$ be two real Hilbert spaces and $A: H_{1} \rightarrow H_{2}$ be a bounded linear operator. Let $f_{1}: H_{1} \rightarrow H_{1}$ be $\mu$-inverse strongly monotone mapping and $f_{2}: H_{2} \rightarrow H_{2}$ be $v$-inverse strongly monotone mapping. Let $B_{1}: H_{1} \rightarrow 2^{H_{1}}$ and $B_{2}: H_{2} \rightarrow 2^{H_{2}}$ be multi-valued maximal monotone mappings. Let $\Omega$ be a solution set of (8) - (9). Let $S: H_{1} \rightarrow H_{1}$ be a $\kappa$-strictly pseudocontractive mapping and $F(S) \cap \Omega \neq \varnothing$. Let $\left\{x_{n}\right\}$ be the sequence generated for $x_{0} \in H_{1}$ by

$$
\left\{\begin{array}{l}
w_{n}=\left(1-\alpha_{n}\right) x_{n}  \tag{13}\\
y_{n}=J_{\lambda}^{B_{1}}\left(I-\lambda f_{1}\right)\left(w_{n}+\gamma A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right) \\
x_{n+1}=\left(1-\beta_{n}\right) y_{n}+\beta_{n} S y_{n}, \quad \forall n \geq 0
\end{array}\right.
$$

where $0<\lambda<2 \mu, 2 v$ and $\gamma \in\left(0, \frac{1}{L}\right)$, $L$ is the spectral radius of the operator $A A^{*}$ and $A^{*}$ is the adjoint of $A$. Suppose $\left\{\alpha_{n}\right\}_{n=1}^{\infty}$ and $\left\{\beta_{n}\right\}_{n=1}^{\infty}$ are real sequences in $(0,1)$ satisfying the following conditions
(i) $\lim _{n \rightarrow \infty} \alpha_{n}=0, \sum_{n=1}^{\infty} \alpha_{n}=\infty$,
(ii) $0<\lim \inf \beta_{n} \leq \lim \sup \beta_{n}<1-\kappa$,
then $\left\{x_{n}\right\}_{n=1}^{\infty}$ converges strongly to $p \in F(S) \cap \Omega$.
Recently, Deepho et. al [14] obtained the following result:
Theorem 2. Let $H_{1}$ and $H_{2}$ be two real Hilbert spaces and let $C \subseteq H_{1}$ and $Q \subseteq H_{2}$ be nonempty closed convex subsets. Let $A: H_{1} \rightarrow H_{2}$ be a bounded linear linear operator. Let $D$ be strongly positive bounded linear operator on $H_{1}$ with a coefficient $\bar{\tau}>0$. Assume that $\left\{T_{i}\right\}_{i=1}^{N}$ : $C \rightarrow H_{1}$ is a family of $k_{i}$-strictly pseudo-contraction mappings such that $\cap_{i=1}^{N} F\left(T_{i}\right) \cap \Omega_{B} \neq \varnothing$. Suppose that $f \in \Pi_{C}$ with a coefficient $\rho \in$ $(0,1)$ and $\left\{\eta_{i}^{(n)}\right\}_{i=1}^{N}$ are finite sequences of positive numbers such that $\sum_{i=1}^{N} \eta_{i}^{(n)}=1$ for all $n \geq 0$. For a given point $x_{0} \in C, \alpha_{n}, \beta_{n} \in(0,1)$ and $0<\tau<\frac{\bar{\tau}}{\rho}$, let $\left\{x_{n}\right\}$ be a sequence generated in the following:

$$
\left\{\begin{array}{l}
u_{n}=J_{\lambda}^{B_{1}}\left(x_{n}+\gamma_{n} A^{*}\left(J_{\lambda}^{B_{2}}-I\right) A x_{n}\right)  \tag{14}\\
y_{n}=\beta_{n} u_{n}+\left(1-\beta_{n}\right) \sum_{i=1}^{N} \eta_{n, i} S_{i} u_{n}, \\
x_{n+1}=\alpha_{n} \tau G\left(x_{n}\right)+\left(I-\alpha_{n} D\right) y_{n}, \quad \forall n \geq 1
\end{array}\right.
$$

where $\lambda>0$ and $\gamma \in\left(0, \frac{1}{L}\right), L$ is the spectral radius of the operator $A^{*} A$ and $A^{*}$ is the adjoint of $A$. Suppose the following conditions are satisfied:
(C1) $\lim _{n \rightarrow \infty} \alpha_{n}=0, \sum_{n=1}^{\infty} \alpha_{n}=\infty$ and $\sum_{i=1}^{\infty}\left|\alpha_{n}-\alpha_{n-1}\right|<\infty$,
(C2) $k_{i} \leq \beta_{n} \leq l<1, \lim _{n \rightarrow \infty} \beta_{n}=l$ and $\sum_{n=1}^{\infty}\left|\beta_{n}-\beta_{n-1}\right|<\infty$,
(C3) $\sum_{n=1}^{\infty} \sum_{i=1}^{N}\left|\eta_{i}^{(n)}-\eta_{i}^{n-1}\right|<\infty$. Then the sequence $\left\{x_{n}\right\}$ generated by (14) converges strongly to $q \in$ $\cap_{i=1}^{N} F\left(T_{i}\right) \cap \Omega_{B}$ which solves the variational inequality

$$
\langle(D-\tau f) q, q-p\rangle \leq 0, \forall p \in \cap_{i=1}^{N} F\left(T_{i}\right) \cap \Omega_{B}
$$

In this paper, we present a general algorithm which does not require prior knowledge of the operator norm for solving split monotone variational inclusion problem, fixed point problem for a finite family of strictly pseudocontractive mappings and certain variational inequality problem. The result of this paper improve on the results of Shehu and Ogbuisi [28] and Deepho et. al [14] as follows:

1. The results of Shehu and Ogbuisi [28] and Deepho et. al [14] both require the knowledge of the operator norm while the result of this paper does not require any knowledge of the operator norm.
2. The result of Deepho et. al [14] took $f_{1}$ and $f_{2}$ to be identically zero but the result of this paper does not require $f_{1}$ and $f_{2}$ to be necessarily zero.
3. The result of this paper solve a variational inequality problem while the result of Shehu and Ogbuisi [28] did not do so.

## 2. Preliminaries

We start by stating some important results we will need in sequel.

Lemma 1. [12,13] Let $H$ be a Hilbert space and $T: H \rightarrow H$ a nonexpansive mapping, then for all $x, y \in H$,

$$
\begin{equation*}
\langle(x-T x)-(y-T y), T y-T x\rangle \leq \frac{1}{2}\|(T x-x)-(T y-y)\|^{2} \tag{15}
\end{equation*}
$$

and consequently if $y \in F(T)$ then

$$
\begin{equation*}
\langle x-T x, T y-T x\rangle \leq \frac{1}{2}\|T x-x\|^{2} \tag{16}
\end{equation*}
$$

Lemma 2. Let $H$ be a real Hilbert space. Then the following result holds

$$
\|x+y\|^{2} \leq\|x\|^{2}+2\langle y, x+y\rangle, \forall x, y \in H .
$$

Lemma 3. Let $H$ be a Hilbert space, then $\forall x, y \in H$ and $\alpha \in(0,1)$, we have

$$
\|\alpha x+(1-\alpha) y\|^{2}=\alpha\|x\|^{2}+(1-\alpha)\|y\|^{2}-\alpha(1-\alpha)\|x-y\|^{2} .
$$

Lemma 4. (Demiclosedness principle) Let $K$ be a nonempty, closed and convex subset of a real Hilbert space $H$. Let $T: K \rightarrow K$ be $\kappa$-strictly pseudocontractive mapping. Then $I-T$ is demi closed at 0 , i.e., if $x_{n} \rightharpoonup x \in K$ and $x_{n}-T x_{n} \rightarrow 0$, then $x=T x$.

Lemma 5. [30] Assume $\left\{a_{n}\right\}$ is a sequence of nonnegative real numbers such that

$$
a_{n+1} \leq\left(1-\gamma_{n}\right) a_{n}+\gamma_{n} \delta_{n}, \quad n \geq 0
$$

where $\left\{\gamma_{n}\right\}$ is a sequence in $(0,1)$ and $\left\{\delta_{n}\right\}$ is a sequence in $\mathbb{R}$ such that
(i) $\sum_{n=0}^{\infty} \gamma_{n}=\infty$
(ii) limsup $\sup _{n \rightarrow \infty} \delta_{n} \leq 0$ or $\sum_{n=0}^{\infty}\left|\delta_{n} \gamma_{n}\right|<\infty$.

Then $\lim _{n \rightarrow \infty} a_{n}=0$.
Lemma 6. [17] Let $M: H \rightarrow 2^{H}$ be a maximally monotone mapping and $f: H \rightarrow H$ be a Lipschitz continuous mapping. Then the mapping $G=M+f: H \rightarrow 2^{H}$ is a maximal monotone mapping.

Lemma 7. [22] Assume that $D$ is a strongly positive linear operator on a Hilbert space with a coefficient $\delta>0$ and $0<\rho<\|D\|^{-1}$. Then $\|I-\rho D\| \leq 1-\rho \delta$.

Lemma 8. [1] Let $C$ be a nonempty closed convex subset of a Hilbert space $H$. Let $\left\{T_{i}\right\}_{i=1}^{N}: C \rightarrow H$ be a finite family of $k_{i^{-}}$strictly pseudocontractive mappings and suppose $\left\{\eta_{i}\right\}_{i=1}^{N}$ is a positive sequence such that $\sum_{i=1}^{N} \eta_{i}=1$. Then $\sum_{i=1}^{N} \eta_{i} T_{i}$ is a $k$-strictly pseudocontractive mapping with $k=\max \left\{k_{i}: 1 \leq i \leq N\right\}$.

Lemma 9. [1] Let C be a nonempty closed convex subset of a Hilbert space $H$. Let $\left\{T_{i}\right\}_{i=1}^{N}: C \rightarrow H$ be a finite family of $k_{i}$ - strictly pseudocontractive mappings and suppose $\left\{\eta_{i}\right\}_{i=1}^{N}$ is a positive sequence such that $\sum_{i=1}^{N} \eta_{i}=1$. Then $F\left(\sum_{i=1}^{N} \eta_{i} T_{i}\right)=\cap_{i=1}^{N} F\left(T_{i}\right)$.

Lemma 10. [1] Let $C$ be a nonempty, closed and convex subset of a Hilbert space $H$. Assume that $f: C \rightarrow C$ is a contraction with a coefficient $\rho \in(0,1)$ and $D$ is a strongly positive linear bounded operator with a coefficient $\bar{\delta}>0$. Then, for $0<\delta<\frac{\bar{\delta}}{\bar{\rho}}$,

$$
\langle x-y,(D-\delta f) x-(D-\delta f) y\rangle \geq(\bar{\delta}-\delta \rho)\|x-y\|^{2}, \quad \forall x, y \in H
$$

That is, $D-\delta f$ is strongly monotone with coefficient $\bar{\delta}-\delta \rho$.
A mapping $T: H \rightarrow H$ is said to be averaged if and only if it can be written as the average of the identity mapping and a nonexpansive mapping, i.e.,

$$
T:=(1-\beta) I+\beta S
$$

where $\beta \in(0,1)$ and $S: H \rightarrow H$ is a nonexpansive mapping and $I$ is the identity mapping on $H$. Every averaged mapping is nonexpansive and every firmly nonexpansive mapping is averaged. Thus since the resolvent of maximal monotone operators are firmly nonexpansive, they are averaged and therefore nonexpansive. For details, please see [2,5,20,23].

## 3. Main Results

Theorem 3. Let $H_{1}$ and $H_{2}$ be two real Hilbert spaces, $A: H_{1} \rightarrow H_{2}$ be a bounded linear operator and $A^{*}$ the adjoint of $A$. Let $f_{1}: H_{1} \rightarrow H_{1}$ be $\mu$-inverse strongly monotone mapping and $f_{2}: H_{2} \rightarrow H_{2}$ be $v$-inverse strongly monotone mapping. Let $B_{1}: H_{1} \rightarrow 2^{H_{1}}$ and $B_{2}: H_{2} \rightarrow 2^{H_{2}}$ be multi-valued maximal monotone mappings. Let $\Omega$ be a solution set of (8) - (9), $S_{i}: H_{1} \rightarrow H_{1}(i=1,2, \ldots, N)$ be $\kappa_{i}$-strictly pseudocontractive mappings and $\mathbb{F} \cap \Omega \neq \varnothing$ where $\mathbb{F}=\cap_{i=1}^{N} F\left(S_{i}\right)$. Let $D$ be a strongly positive bounded linear operator on $H_{1}$ with a coefficient $\bar{\delta}>0, G$ a $\rho$ contraction on $H_{1}, 0<\delta<\frac{\bar{\delta}}{\rho}$ and $\left\{\eta_{n, i}\right\}_{i-1}^{N} \subset(0,1)$ are such that $\sum_{i=1}^{N} \eta_{n, i}=$ 1. Let the step size $\gamma_{n}$ be chosen in such a way that for some $\epsilon>0, \gamma_{n} \in\left(\epsilon, \frac{\left\|\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2}}{\left\|A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2}}-\right.$ $\epsilon)$ for $J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right) A w_{n} \neq A w_{n}$ and $\gamma_{n}=\gamma$, otherwise ( $\gamma$ being any nonnegative real number). Then the sequences $\left\{w_{n}\right\},\left\{x_{n}\right\}$ and $\left\{y_{n}\right\}$ generated iteratively for an arbitrary $x_{0} \in C$ and a fixed $u \in C$ by

$$
\left\{\begin{array}{l}
w_{n}=\left(I-\alpha_{n} D\right) x_{n}+\alpha_{n} \delta G\left(x_{n}\right)  \tag{17}\\
y_{n}=J_{\lambda}^{B_{1}}\left(I-\lambda f_{1}\right)\left(w_{n}+\gamma_{n} A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right) \\
x_{n+1}=\left(1-\beta_{n}\right) y_{n}+\beta_{n} \sum_{i=1}^{N} \eta_{n, i} S_{i} y_{n}, \forall n \geq 0
\end{array}\right.
$$

converges strongly to a point $p \in \Omega \cap \mathbb{F}$ which is also a solution of the variational inequality

$$
\langle(D-\delta G) p, p-q\rangle \leq 0, \quad \forall q \in \Omega \cap \mathbb{F}
$$

where $\lambda>0$ is such that where $0<\lambda<2 \mu, 2 v$ and $\left\{\alpha_{n}\right\}_{n=1}^{\infty}$ and $\left\{\beta_{n}\right\}_{n=1}^{\infty}$ are real sequences in $(0,1)$ satisfying the following conditions
(i) $\lim _{n \rightarrow \infty} \alpha_{n}=0, \sum_{n=1}^{\infty} \alpha_{n}=\infty$,
(ii) $\kappa=\max \left\{\kappa_{i}: 1 \leq i \leq N\right\}, 0<\liminf \beta_{n} \leq \limsup \beta_{n}<1-\kappa$.

Proof. For any $x, y \in H$, we have

$$
\begin{aligned}
\| P_{\Omega \cap \mathbb{F}}(I-D+\delta G)(x)-P_{\Omega \cap \mathbb{F}}(I-D+\delta G)(y) \mid & \leq\|(I-D+\delta G)(x)-(I-D+\delta G)(y)\| \\
& \leq\|(I-D) x-(I-D) y\|+\delta\|G x-G y\| \\
& \leq(1-\bar{\delta})\|x-y\|+\delta \rho\|x-y\| \\
& \leq(1-(\bar{\delta}-\delta \rho)\|x-y\| .
\end{aligned}
$$

Thus $P_{\Omega \cap \mathbb{F}}(I-D+\delta G)$ is a contraction and by the Banach contraction mapping principle, we conclude that there exists $p \in H$ such that $p=P_{\Omega \cap \mathbb{F}}(I-D+\delta G) p$. Next we show that $\left\{x_{n}\right\}$ is bounded.

$$
\begin{align*}
\left\|w_{n}-p\right\| & =\left\|\left(I-\alpha_{n} D\right)\left(x_{n}-p\right)+\alpha_{n}\left(\delta G\left(x_{n}\right)-D p\right)\right\| \\
& \leq\left(1-\alpha_{n} \bar{\delta}\right)\left\|x_{n}-p\right\|+\alpha_{n}\left\|\delta G\left(x_{n}\right)-D p\right\| \\
& \left.\leq\left(1-\alpha_{n} \bar{\delta}\right)\left\|x_{n}-p\right\|+\alpha_{n}\left\|\delta G\left(x_{n}\right)-\delta G(p)\right\|+\alpha_{n} \| \delta G(p)-D p\right) \| \\
& \left.\leq\left[1-(\bar{\delta}-\delta \rho) \alpha_{n}\right]\left\|x_{n}-p\right\|+\alpha_{n} \| \delta G(p)-D p\right) \| \tag{18}
\end{align*}
$$

But

$$
\begin{align*}
\left\|y_{n}-p\right\|^{2}= & \left\|J_{\lambda}^{B_{1}}\left(I-\lambda f_{1}\right)\left(w_{n}+\gamma_{n} A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right)-p\right\|^{2} \\
\leq & \left\|w_{n}+\gamma_{n} A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}-p\right\|^{2} \\
= & \left\|w_{n}-p\right\|^{2}+\gamma_{n}^{2}\left\|A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2} \\
& +2 \gamma_{n}\left\langle w_{n}-p, A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\rangle . \tag{19}
\end{align*}
$$

Now by Lemma 1 (16), we have

$$
\begin{align*}
2 \gamma_{n}\left\langle w_{n}-p, A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\rangle= & 2 \gamma_{n}\left\langle A\left(w_{n}-p\right),\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\rangle \\
= & 2 \gamma_{n}\left[\left\langle J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right) A w_{n}-A p,\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\rangle\right. \\
& \left.-\left\|\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2}\right] \\
\leq & 2 \gamma_{n}\left[\frac{1}{2}\left\|\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2}\right. \\
& \left.-\left\|\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2}\right] \\
= & -\gamma_{n}\left\|\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2} \tag{20}
\end{align*}
$$

Thus from (19) and (20), we have

$$
\begin{align*}
\left\|y_{n}-p\right\|^{2} \leq & \left\|w_{n}-p\right\|^{2}+\gamma_{n}^{2}\left\|A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2}-\gamma_{n}\left\|\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2} \\
= & \left\|w_{n}-p\right\|^{2}+\gamma_{n}\left[\gamma_{n}\left\|A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2}\right. \\
& \left.-\left\|\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2}\right] \tag{21}
\end{align*}
$$

Hence from the condition $\gamma_{n} \in\left(\epsilon, \frac{\left\|\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2}}{\left\|A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2}}-\epsilon\right)$, we obtain

$$
\begin{equation*}
\left\|y_{n}-p\right\|^{2} \leq\left\|w_{n}-p\right\|^{2} \tag{22}
\end{equation*}
$$

$$
\begin{align*}
\left\|x_{n+1}-p\right\|^{2}= & \left\|\left(1-\beta_{n}\right) y_{n}+\beta_{n} \sum_{i=1}^{N} \eta_{n, i} S_{i} y_{n}-p\right\|^{2} \|^{2} \\
= & \left(1-\beta_{n}\right)\left\|y_{n}-p\right\|^{2}+\beta_{n}\left\|\sum_{i=1}^{N} \eta_{n, i} S_{i} y_{n}-p\right\|^{2}-\beta_{n}\left(1-\beta_{n}\right)\left\|y_{n}-\sum_{i=1}^{N} \eta_{n, i} S_{i} y_{n}\right\|^{2} \\
\leq & \left(1-\beta_{n}\right)\left\|y_{n}-p\right\|^{2}+\beta_{n}\left[\left\|y_{n}-p\right\|^{2}+\kappa\left\|y_{n}-\sum_{i=1}^{N} \eta_{n, i} S_{i} y_{n}\right\|^{2}\right] \\
& -\beta_{n}\left(1-\beta_{n}\right)\left\|y_{n}-\sum_{i=1}^{N} \eta_{n, i} S_{i} y_{n}\right\|^{2} \\
= & \left\|y_{n}-p\right\|^{2}-\beta_{n}\left(1-\beta_{n}-\kappa\right)\left\|y_{n}-\sum_{i=1}^{N} \eta_{n, i} S_{i} y_{n}\right\|^{2} \\
\leq & \left\|y_{n}-p\right\|^{2} . \tag{23}
\end{align*}
$$

Therefore, from (18), we have

$$
\begin{align*}
\left\|x_{n+1}-p\right\| & \leq\left\|w_{n}-p\right\| \\
& \left.\leq\left[1-(\bar{\delta}-\delta \rho) \alpha_{n}\right]\left\|x_{n}-p\right\|+\alpha_{n} \| \delta G(p)-D p\right) \| \\
& \left.=\left[1-(\bar{\delta}-\delta \rho) \alpha_{n}\right]\left\|x_{n}-p\right\|+(\bar{\delta}-\delta \rho) \alpha_{n} \frac{1}{(\bar{\delta}-\delta \rho)} \| \delta G(p)-D p\right) \| \\
& \left.\leq \max \left\{\left\|x_{n}-p\right\|, \frac{1}{(\bar{\delta}-\delta \rho)} \| \delta G(p)-D p\right) \|\right\} \\
& \vdots  \tag{24}\\
& \left.\leq \max \left\{\left\|x_{0}-p\right\|, \frac{1}{(\bar{\delta}-\delta \rho)} \| \delta G(p)-D p\right) \|\right\} .
\end{align*}
$$

We then conclude that $\left\{x_{n}\right\}$ is bounded.
Again,

$$
\begin{align*}
\left\|w_{n}-x_{n}\right\| & =\left\|\left(I-\alpha_{n} D\right) x_{n}+\alpha_{n} \delta G\left(x_{n}\right)-x_{n}\right\| \\
& =\alpha_{n}\left\|D x_{n}-\delta G\left(x_{n}\right)\right\| \rightarrow 0, n \rightarrow \infty . \tag{25}
\end{align*}
$$

Moreover,

$$
\begin{align*}
\left\|x_{n+1}-p\right\|^{2} \leq & \left\|y_{n}-p\right\|^{2}-\beta_{n}\left(1-\beta_{n}-\kappa\right)\left\|y_{n}-\sum_{i=1}^{N} \eta_{n, i} S_{i} y_{n}\right\|^{2} \\
\leq & \left\|w_{n}-p\right\|^{2}-\beta_{n}\left(1-\beta_{n}-\kappa\right)\left\|y_{n}-\sum_{i=1}^{N} \eta_{n, i} S_{i} y_{n}\right\|^{2} \\
= & \left\|\left(I-\alpha_{n} D\right) x_{n}+\alpha_{n} \delta G\left(x_{n}\right)-p\right\|^{2}-\beta_{n}\left(1-\beta_{n}-\kappa\right)\left\|y_{n}-\sum_{i=1}^{N} \eta_{n, i} S_{i} y_{n}\right\|^{2} \\
\leq & \left\|x_{n}-p\right\|^{2}+\alpha_{n}^{2}\left\|D x_{n}-\delta G\left(x_{n}\right)\right\|^{2}-2 \alpha_{n}\left\langle x_{n}-p, D x_{n}-\delta G\left(x_{n}\right)\right\rangle \\
& -\beta_{n}\left(1-\beta_{n}-\kappa\right)\left\|y_{n}-\sum_{i=1}^{N} \eta_{n, i} S_{i} y_{n}\right\|^{2} . \tag{26}
\end{align*}
$$

We divide into two cases to obtain strong convergence.
Case 1. Assume that $\left\{\left\|x_{n}-p\right\|^{2}\right\}$ is a monotonically decreasing sequence. It then follows that $\left\{\| x_{n}-\right.$ $\left.p \|\left.\right|^{2}\right\}$ is convergent and

$$
\begin{equation*}
\left\|x_{n}-p\right\|-\left\|x_{n+1}-p\right\| \rightarrow 0, n \rightarrow \infty . \tag{27}
\end{equation*}
$$

Therefore, from (26), we have

$$
\begin{aligned}
\beta_{n}\left(1-\beta_{n}-\kappa\right)\left\|y_{n}-\sum_{i=1}^{N} \eta_{n, i} S_{i} y_{n}\right\|^{2} \leq & \left\|x_{n}-p\right\|^{2}-\left\|x_{n+1}-p\right\|^{2}+\alpha_{n}^{2}\left\|D x_{n}-\delta G\left(x_{n}\right)\right\|^{2} \\
& -2 \alpha_{n}\left\langle x_{n}-p, D x_{n}-\delta G\left(x_{n}\right)\right\rangle \rightarrow 0, n \rightarrow \infty .
\end{aligned}
$$

That is,

$$
\begin{equation*}
\left\|y_{n}-\sum_{i=1}^{N} \eta_{n, i} S_{i} y_{n}\right\| \rightarrow 0, n \rightarrow \infty \tag{28}
\end{equation*}
$$

Also,

$$
\begin{align*}
\left\|x_{n+1}-p\right\|^{2} \leq & \left\|y_{n}-p\right\|^{2} \\
\leq & \left\|w_{n}-p\right\|^{2}+\gamma_{n}\left[\gamma_{n}\left\|A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2}-\left\|\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2}\right] \\
\leq & \left\|x_{n}-p\right\|^{2}+\alpha_{n}^{2}\left\|D x_{n}-\delta G\left(x_{n}\right)\right\|^{2}-2 \alpha_{n}\left\langle x_{n}-p, D x_{n}-\delta G\left(x_{n}\right)\right\rangle \\
& +\gamma_{n}\left[\gamma_{n}\left\|A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2}-\left\|\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2}\right] \tag{29}
\end{align*}
$$

It then follows from (29) and the condition

$$
\gamma_{n} \in\left(\epsilon, \frac{\left\|\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2}}{\left\|A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2}}-\epsilon\right)
$$

that

$$
\begin{align*}
\left\|x_{n+1}-p\right\|^{2} \leq & \left\|x_{n}-p\right\|^{2}+\alpha_{n}^{2}\left\|D x_{n}-\delta G\left(x_{n}\right)\right\|^{2}-2 \alpha_{n}\left\langle x_{n}-p, D x_{n}-\delta G\left(x_{n}\right)\right\rangle \\
& -\epsilon^{2}\left\|A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2} \tag{30}
\end{align*}
$$

which implies

$$
\begin{aligned}
\epsilon^{2}\left\|A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2} \leq & \left\|x_{n}-p\right\|^{2}-\left\|x_{n+1}-p\right\|^{2}+\alpha_{n}^{2}\left\|D x_{n}-\delta G\left(x_{n}\right)\right\|^{2} \\
& -2 \alpha_{n}\left\langle x_{n}-p, D x_{n}-\delta G\left(x_{n}\right)\right\rangle \rightarrow 0, n \rightarrow \infty .
\end{aligned}
$$

Therefore,

$$
\begin{equation*}
\lim _{n \rightarrow \infty}\left\|A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|=0 \tag{31}
\end{equation*}
$$

Also from (29), we have

$$
\begin{align*}
\gamma_{n}\left\|\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2} \leq & \left\|x_{n}-p\right\|^{2}-\left\|x_{n+1}-p\right\|^{2}+\alpha_{n}^{2}\left\|D x_{n}-\delta G\left(x_{n}\right)\right\|^{2} \\
& -2 \alpha_{n}\left\langle x_{n}-p, D x_{n}-\delta G\left(x_{n}\right)\right\rangle \\
& +\gamma_{n}^{2}\left\|A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2} \rightarrow 0, n \rightarrow \infty \tag{32}
\end{align*}
$$

## Further,

$$
\begin{align*}
\left\|y_{n}-p\right\|^{2}= & \left\|J_{\lambda}^{B_{1}}\left(I-\lambda f_{1}\right)\left(w_{n}+\gamma_{n} A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right)-p\right\|^{2} \\
\leq & \left\langle y_{n}-p, w_{n}+\gamma_{n} A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}-p\right\rangle \\
= & \frac{1}{2}\left[\left\|y_{n}-p\right\|^{2}+\left\|w_{n}+\gamma_{n} A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}-p\right\|^{2}\right. \\
& \left.\left.-\| y_{n}-p-\left(w_{n}+\gamma_{n} A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right)-p\right) \|^{2}\right] \\
\leq & \frac{1}{2}\left[\left\|y_{n}-p\right\|^{2}+\left\|w_{n}-p\right\|^{2}\right. \\
& +\gamma_{n}\left(\gamma_{n}\left\|A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2}-\left\|\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2}\right) \\
& \left.-\left\|y_{n}-p-\left(w_{n}+\gamma_{n} A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}-p\right)\right\|^{2}\right] \\
\leq & \frac{1}{2}\left[\left\|y_{n}-p\right\|^{2}+\left\|w_{n}-p\right\|^{2}-\left(\left\|y_{n}-w_{n}\right\|^{2}+\gamma_{n}^{2}\left\|A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2}\right.\right. \\
& \left.\left.-2 \gamma_{n}\left\langle y_{n}-w_{n}, A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\rangle\right)\right] \\
\leq & \frac{1}{2}\left[\left\|y_{n}-p\right\|^{2}+\left\|w_{n}-p\right\|^{2}-\left\|y_{n}-w_{n}\right\|^{2}\right. \\
& \left.+2 \gamma_{n}\left\|y_{n}-w_{n}\right\|\left\|A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|\right] . \tag{33}
\end{align*}
$$

That is,

$$
\begin{align*}
\left\|y_{n}-p\right\|^{2} \leq & \left\|w_{n}-p\right\|^{2}-\left\|y_{n}-w_{n}\right\|^{2} \\
& +2 \gamma_{n}\left\|y_{n}-w_{n}\right\|\left\|A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\| . \tag{34}
\end{align*}
$$

Thus, it follows from (23) and (34) that

$$
\begin{align*}
\left\|x_{n+1}-p\right\|^{2} \leq & \left\|w_{n}-p\right\|^{2}-\left\|y_{n}-w_{n}\right\|^{2} \\
& +2 \gamma_{n}\left\|y_{n}-w_{n}\right\|\left\|A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\| . \tag{35}
\end{align*}
$$

Hence,

$$
\begin{align*}
\left\|y_{n}-w_{n}\right\|^{2} \leq & \left\|w_{n}-p\right\|^{2}-\left\|x_{n+1}-p\right\|^{2}+2 \gamma_{n}\left\|y_{n}-w_{n}\right\|\left\|A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\| \\
\leq & \left\|x_{n}-p\right\|^{2}+\alpha_{n}^{2}\left\|D x_{n}-\delta G\left(x_{n}\right)\right\|^{2}-2 \alpha_{n}\left\langle x_{n}-p, D x_{n}-\delta G\left(x_{n}\right)\right\rangle \\
& -\left\|x_{n+1}-p\right\|^{2}+2 \gamma_{n}\left\|y_{n}-w_{n}\right\|\left\|A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\| \rightarrow 0, n \rightarrow \infty . \tag{36}
\end{align*}
$$

Furthermore,

$$
\begin{align*}
& \left\|x_{n}-y_{n}\right\| \leq\left\|x_{n}-w_{n}\right\|+\left\|w_{n}-y_{n}\right\| \rightarrow 0, n \rightarrow \infty  \tag{37}\\
& \left\|x_{n+1}-y_{n}\right\|=\beta_{n}\left\|y_{n}-\sum_{i=1}^{N} \eta_{n, i} S_{i} y_{n}\right\| \rightarrow 0, n \rightarrow \infty \tag{38}
\end{align*}
$$

and hence,

$$
\begin{equation*}
\left\|x_{n+1}-x_{n}\right\| \leq\left\|x_{n+1}-y_{n}\right\|+\left\|x_{n}-y_{n}\right\| \rightarrow 0, \rightarrow \infty \tag{39}
\end{equation*}
$$

Let $u_{n}=w_{n}+\gamma A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}$, then

$$
\begin{equation*}
\left\|u_{n}-w_{n}\right\|^{2}=L \gamma^{2}\left\|\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2} \rightarrow 0 \tag{40}
\end{equation*}
$$

Combining (36) and (40), we have that

$$
\begin{equation*}
\left\|y_{n}-u_{n}\right\| \leq\left\|y_{n}-w_{n}\right\|+\left\|w_{n}-u_{n}\right\| \rightarrow 0 . \tag{41}
\end{equation*}
$$

Next, we show that

$$
\left.\limsup _{n \rightarrow \infty}\langle D-\delta G) q, q-x_{n}\right\rangle \leq 0
$$

We choose a subsequence $\left\{x_{n_{i}}\right\}$ of $\left\{x_{n}\right\}$ such that

$$
\left.\left.\lim _{i \rightarrow \infty}\langle D-\delta G) q, q-x_{n_{i}}\right\rangle=\limsup _{n \rightarrow \infty}\langle D-\delta G) q, q-x_{n}\right\rangle
$$

Since $\left\{x_{n_{i}}\right\}$ is bounded, there exists a subsequence of $\left\{x_{n_{i}}\right\}$ also denoted as $\left\{x_{n_{i}}\right\}$ that converges weakly to some $q \in H$ and consequently we have $\left\{y_{n_{i}}\right\}$ and $\left\{w_{n_{i}}\right\}$ converge weakly to $q$. From Lemma 4 , Lemma 8, Lemma 9 and (28), we conclude $q \in \mathbb{F}$.
We now show that $q \in I\left(f_{1}, B_{1}\right)$. Since $f_{1}$ is a $\frac{1}{\mu}$-Lipschitz monotone mapping and the domain of $f_{1}$ is $H_{1}$ then by Lemma 6 we conclude that $B_{1}+f_{1}$ is maximally monotone. Let $(v, z) \in G\left(B_{1}+f_{1}\right)$, that is $z-f_{1} v \in B_{1}(v)$.
Since $y_{n_{i}}=J_{\lambda}^{B_{1}}\left(I-\lambda f_{1}\right) u_{n_{i}}$ we obtain that

$$
\left(I-\lambda f_{1}\right) u_{n_{i}} \in\left(I+\lambda B_{1}\right) y_{n_{i}}
$$

That is,

$$
\frac{1}{\lambda}\left(u_{n_{i}}-\lambda f_{1} u_{n_{i}}-y_{n_{i}}\right) \in B_{1}\left(y_{n_{i}}\right) .
$$

Using the maximal monotonicity of $\left(B_{1}+f_{1}\right)$, we have

$$
\left\langle v-y_{n_{i}}, z-f_{1} v-\frac{1}{\lambda}\left(u_{n_{i}}-\lambda f_{1} u_{n_{i}}-y_{n_{i}}\right)\right\rangle \geq 0
$$

Therefore,

$$
\begin{align*}
\left\langle v-y_{n_{i}}, z\right\rangle & \geq\left\langle v-y_{n_{i}}, f_{1} v+\frac{1}{\lambda}\left(u_{n_{i}}-\lambda f_{1} u_{n_{i}}-y_{n_{i}}\right)\right\rangle \\
& =\left\langle v-y_{n_{i}}, f_{1} v-f_{1} y_{n_{i}}+f_{1} y_{n_{i}}-f_{1} u_{n_{i}}+\frac{1}{\lambda}\left(u_{n_{i}}-y_{n_{i}}\right)\right\rangle \\
& \geq 0+\left\langle v-y_{n_{i}}, f_{1} y_{n_{i}}-f_{1} u_{n_{i}}\right\rangle+\left\langle v-y_{n_{i}}, \frac{1}{\lambda}\left(u_{n_{i}}-y_{n_{i}}\right)\right\rangle . \tag{42}
\end{align*}
$$

By (41), we obtain that

$$
\lim _{i \rightarrow \infty}\left\|f_{1} y_{n_{i}}-f_{1} u_{n_{i}}\right\|=0
$$

Also, since $y_{n_{i}} \rightharpoonup q$, we have

$$
\lim _{i \rightarrow \infty}\left\langle v-y_{n_{i}}, z\right\rangle=\langle v-p, z\rangle
$$

Thus, from (42)

$$
\langle v-q, z\rangle \geq 0 .
$$

Since $B_{1}+f_{1}$ is maximally monotone, we have $0 \in\left(B_{1}+f_{1}\right) q$ which implies that

$$
q \in I\left(f_{1}, B_{1}\right)
$$

Moreover, we have $A w_{n_{i}}$ converges weakly to $A q$, thus by (32) and the fact that $J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)$ is nonexpansive, then by Lemma 4, we get that

$$
0 \in f_{2} A q+B_{2}(A q)
$$

That is $A q \in I\left(f_{2}, B_{2}\right)$. Hence, $q \in \Omega \cap \mathbb{F}$.
Since $p=P_{\Omega \cap \mathbb{F}}(I-D+\delta G) p$ and $q \in \Omega \cap \mathbb{F}$, we have

$$
\begin{align*}
\limsup _{n \rightarrow \infty}\left\langle(D-\delta G) p, p-x_{n}\right\rangle & =\lim _{i \rightarrow \infty}\left\langle(D-\delta G) p, p-x_{n_{i}}\right\rangle \\
& =\langle(D-\delta G) p, p-q\rangle \leq 0 . \tag{43}
\end{align*}
$$

We now show that $\left\{x_{n}\right\}$ converges strongly to $p$.

$$
\begin{aligned}
\left\|x_{n+1}-P\right\|^{2} \leq & \left\|y_{n}-p\right\|^{2} \\
\leq & \left\|w_{n}-p\right\|^{2} \\
= & \left\|\left(I-\alpha_{n} D\right) x_{n}+\alpha_{n} \delta G\left(x_{n}\right)-p\right\|^{2} \\
\leq & \left(1-\alpha_{n} \bar{\delta}\right)^{2}\left\|x_{n}-p\right\|^{2}+\alpha_{n}^{2}\left\|\delta G\left(x_{n}\right)-D p\right\|^{2} \\
& +2 \alpha_{n}\left\langle\left(I-\alpha_{n} D\right)\left(x_{n}-p\right), \delta G\left(x_{n}\right)-D p\right\rangle \\
\leq & \left(1-\alpha_{n} \bar{\delta}\right)^{2}\left\|x_{n}-p\right\|^{2}+\alpha_{n}^{2}\left\|\delta G\left(x_{n}\right)-D p\right\|^{2} \\
& +2 \alpha_{n}\left\langle x_{n}-p, \delta G\left(x_{n}\right)-D p\right\rangle-2 \alpha_{n}^{2}\left\langle D x_{n}-D p, \delta G\left(x_{n}\right)-D p\right\rangle \\
\leq & \left(1-\alpha_{n} \bar{\delta}\right)^{2}\left\|x_{n}-p\right\|^{2}+\alpha_{n}^{2}\left\|\delta G\left(x_{n}\right)-D p\right\|^{2}+2 \alpha_{n} \delta\left\langle x_{n}-p, G\left(x_{n}\right)-G(p)\right\rangle \\
& +2 \alpha_{n}\left\langle x_{n}-p, \delta G(p)-D p\right\rangle-2 \alpha_{n}^{2}\left\langle D x_{n}-D p, \delta G\left(x_{n}\right)-D p\right\rangle \\
\leq & \left(1-\alpha_{n} \bar{\delta}\right)^{2}\left\|x_{n}-p\right\|^{2}+\alpha_{n}^{2}\left\|\delta G\left(x_{n}\right)-D p\right\|^{2}+2 \alpha_{n} \rho \delta\left\|x_{n}-p\right\|^{2} \\
& +2 \alpha_{n}\left\langle x_{n}-p, \delta G(p)-D p\right\rangle-2 \alpha_{n}^{2}\left\langle D x_{n}-D p, \delta G\left(x_{n}\right)-D p\right\rangle \\
= & \left(1-2 \alpha_{n}(\bar{\delta}-\rho \delta)+\alpha_{n}^{2} \bar{\delta}^{2}\right)\left\|x_{n}-p\right\|^{2}+\alpha_{n}^{2}\left\|\delta G\left(x_{n}\right)-D p\right\|^{2} \\
& +2 \alpha_{n}\left\langle x_{n}-p, \delta G(p)-D p\right\rangle-2 \alpha_{n}^{2}\left\langle D x_{n}-D p, \delta G\left(x_{n}\right)-D p\right\rangle .
\end{aligned}
$$

Therefore,

$$
\begin{aligned}
\left\|x_{n+1}-P\right\|^{2} \leq & \left(1-\alpha_{n}(\bar{\delta}-\rho \delta)\right)\left\|x_{n}-p\right\|^{2}+\alpha_{n}(\bar{\delta}-\rho \delta)\left[\frac { 1 } { ( \overline { \delta } - \rho \delta ) } \left(\alpha_{n} \bar{\delta}^{2}\left\|x_{n}-p\right\|^{2}\right.\right. \\
& \left.\left.+\alpha_{n}\left\|\delta G\left(x_{n}\right)-D p\right\|^{2}+2\left\langle x_{n}-p, \delta G(p)-D p\right\rangle-2 \alpha_{n}\left\langle D x_{n}-D p, \delta G\left(x_{n}\right)-D p\right\rangle\right)\right]
\end{aligned}
$$

Thus by Lemma 5, we have $x_{n} \rightarrow p$.
Case 2. Assume that $\left\{\left\|x_{n}-p\right\|\right\}$ is not a monotonically decreasing sequence. Set $\Gamma_{n}=\left\|x_{n}-p\right\|^{2}$ and let $\tau: \mathbb{N} \rightarrow \mathbb{N}$ be a mapping for all $n \geq n_{0}$ (for some $n_{0}$ large enough) defined by

$$
\tau(n):=\max \left\{k \in \mathbb{N}: k \geq n, \Gamma_{k} \leq \Gamma_{k+1}\right\}
$$

Clearly $\tau$ is a non-decreasing sequence such that $\tau(n) \rightarrow \infty$ as $n \rightarrow \infty$ and $\Gamma_{\tau(n)} \leq \Gamma_{\tau(n)+1}$, for $n \geq n_{0}$. Then from (26), we have

$$
\begin{aligned}
0 \leq & \left\|x_{\tau(n)+1}-p\right\|^{2}-\left\|x_{\tau(n)}-p\right\|^{2} \\
\leq & \alpha_{\tau(n)}^{2}\left\|D x_{\tau(n)}-\delta G\left(x_{\tau(n)}\right)\right\|^{2}-2 \alpha_{\tau(n)}\left\langle x_{\tau(n)}-p, D x_{\tau(n)}-\delta G\left(x_{\tau(n)}\right)\right\rangle \\
& -\beta_{\tau(n)}\left(1-\beta_{\tau(n)}-\kappa\right)\left\|y_{\tau(n)}-\sum_{i=1}^{N} \eta_{\tau(n), i} S_{i} y_{\tau(n)}\right\|^{2}
\end{aligned}
$$

which implies

$$
\begin{aligned}
\beta_{\tau(n)}\left(1-\beta_{\tau(n)}-\kappa\right)\left\|y_{\tau(n)}-\sum_{i=1}^{N} \eta_{\tau(n), i} S_{i} y_{\tau(n)}\right\|^{2} \leq & \alpha_{\tau(n)}^{2}\left\|D x_{\tau(n)}-\delta G\left(x_{\tau(n)}\right)\right\|^{2} \\
& -2 \alpha_{\tau(n)}\left\langle x_{\tau(n)}-p, D x_{\tau(n)}-\delta G\left(x_{\tau(n)}\right)\right\rangle \rightarrow 0 .
\end{aligned}
$$

By the same argument as in (28)-(43) in case 1, we conclude that

$$
\left.\limsup _{n \rightarrow \infty}\langle D-\delta G) q, q-x_{\tau(n)}\right\rangle \leq 0
$$

Hence, for all $n \geq n_{0}$,

$$
\begin{aligned}
0 \leq & \left\|x_{\tau(n)+1}-p\right\|^{2}-\left\|x_{\tau(n)}-p\right\|^{2} \\
\leq & \left(1-\alpha_{\tau(n)}(\bar{\delta}-\rho \delta)\right)\left\|x_{\tau(n)}-p\right\|^{2} \\
& +\alpha_{\tau(n)}(\bar{\delta}-\rho \delta)\left[\frac { 1 } { ( \overline { \delta } - \rho \delta ) } \left(\alpha_{\tau(n)} \bar{\delta}^{2}\left\|x_{\tau(n)}-p\right\|^{2}+\alpha_{\tau(n)}\left\|\delta G\left(x_{\tau(n)}\right)-D p\right\|^{2}\right.\right. \\
& \left.\left.+2\left\langle x_{\tau(n)}-p, \delta G(p)-D p\right\rangle-2 \alpha_{\tau(n)}\left\langle D x_{\tau(n)}-D p, \delta G\left(x_{\tau(n)}\right)-D p\right\rangle\right)\right]-\left\|x_{\tau(n)}-p\right\|^{2} \\
= & \alpha_{\tau(n)}(\bar{\delta}-\rho \delta)\left[\frac { 1 } { ( \overline { \delta } - \rho \delta ) } \left(\alpha_{\tau(n)} \bar{\delta}^{2}\left\|x_{\tau(n)}-p\right\|^{2}+\alpha_{\tau(n)}\left\|\delta G\left(x_{\tau(n)}\right)-D p\right\|^{2}\right.\right. \\
& \left.\left.+2\left\langle x_{\tau(n)}-p, \delta G(p)-D p\right\rangle-2 \alpha_{\tau(n)}\left\langle D x_{\tau(n)}-D p, \delta G\left(x_{\tau(n)}\right)-D p\right\rangle\right)-\left\|x_{\tau(n)}-p\right\|^{2}\right] .
\end{aligned}
$$

That is,

$$
\begin{align*}
\left\|x_{\tau(n)}-p\right\|^{2} \leq & \frac{1}{(\bar{\delta}-\rho \delta)}\left(\alpha_{\tau(n)} \bar{\delta}^{2}\left\|x_{\tau(n)}-p\right\|^{2}+\alpha_{\tau(n)}\left\|\delta G\left(x_{\tau(n)}\right)-D p\right\|^{2}\right. \\
& +2\left\langle x_{\tau(n)}-p, \delta G(p)-D p\right\rangle \\
& \left.-2 \alpha_{\tau(n)}\left\langle D x_{\tau(n)}-D p, \delta G\left(x_{\tau(n)}\right)-D p\right\rangle\right) \rightarrow 0, n \rightarrow \infty . \tag{44}
\end{align*}
$$

Therefore,

$$
\left\|x_{\tau(n)}-p\right\|^{2} \leq \alpha_{\tau(n)}\|p\|^{2}-2 \alpha_{\tau(n)}\left(1-\alpha_{\tau(n)}\right)\left\langle x_{\tau(n)}-p, p\right\rangle \rightarrow 0
$$

Thus,

$$
\lim _{n \rightarrow \infty}\left\|x_{\tau(n)}-p\right\|^{2}=0
$$

and hence,

$$
\lim _{n \rightarrow \infty} \Gamma_{\tau(n)}=\lim _{n \rightarrow \infty} \Gamma_{\tau(n)+1}
$$

Furthermore, for $n \geq n_{0}$, it is observed that $\Gamma_{\tau(n)} \leq \Gamma_{\tau(n)+1}$ if $n \neq \tau(n)$ (that is $\tau(n)<n$ ) because $\Gamma_{j}>\Gamma_{j+1}$ for $\tau(n)+1 \leq j \leq n$. Consequently for all $n \geq n_{0}$,

$$
0 \leq \Gamma_{n} \leq \max \left\{\Gamma_{\tau(n)}, \Gamma_{\tau(n)}+1\right\}=\Gamma_{\tau(n)}+1
$$

So $\lim _{n \rightarrow \infty} \Gamma_{n}=0$, that is $\left\{x_{n}\right\},\left\{y_{n}\right\}$ and $\left\{w_{n}\right\}$ converge strongly to $p \in \Omega \cap \mathbb{F}$ which is also a solution of the variational inequality

$$
\langle(D-\delta G) p, p-q\rangle \leq 0, \forall q \in \Omega \cap \mathbb{F}
$$

Corollary 1. Let $H_{1}$ and $H_{2}$ be two real Hilbert spaces, $A: H_{1} \rightarrow H_{2}$ be a bounded linear operator and $A^{*}$ the adjoint of $A$. Let $B_{1}: H_{1} \rightarrow 2^{H_{1}}$ and $B_{2}: H_{2} \rightarrow 2^{H_{2}}$ be multi-valued maximal monotone mappings. Let $S_{i}: H_{1} \rightarrow H_{1}(i=1,2, \ldots, N)$ be $\kappa_{i}$-strictly pseudocontractive mappings and $\mathbb{F} \cap \Omega_{B} \neq \varnothing$ where $\mathbb{F}=\cap_{i=1}^{N} F\left(S_{i}\right)$.

Let $D$ be a strongly positive bounded linear operator on $H_{1}$ with a coefficient $\bar{\delta}>0, G$ a $\rho$ contraction on $H_{1}$, $0<\delta<\frac{\bar{\delta}}{\rho}$ and $\left\{\eta_{n, i}\right\}_{i-1}^{N} \subset(0,1)$ are such that $\sum_{i=1}^{N} \eta_{n, i}=1$. Let the step size $\gamma_{n}$ be chosen in such a way that for some $\epsilon>0, \gamma_{n} \in\left(\epsilon, \frac{\left\|\left(J_{\lambda}^{B_{2}}-I\right) A w_{n}\right\|^{2}}{\left\|A^{*}\left(J_{\lambda}^{B_{2}}-I\right) A w_{n}\right\|^{2}}-\epsilon\right)$ for $J_{\lambda}^{B_{2}} A w_{n} \neq A w_{n}$ and $\gamma_{n}=\gamma$, otherwise $(\gamma$ being any nonnegative real number). Then the sequences $\left\{w_{n}\right\},\left\{x_{n}\right\}$ and $\left\{y_{n}\right\}$ generated iteratively for an arbitrary $x_{0} \in C$ and a fixed $u \in C$ by

$$
\left\{\begin{array}{l}
w_{n}=\left(I-\alpha_{n} D\right) x_{n}+\alpha_{n} \delta G\left(x_{n}\right)  \tag{45}\\
y_{n}=J_{\lambda}^{B_{1}}\left(w_{n}+\gamma_{n} A^{*}\left(J_{\lambda}^{B_{2}}-I\right) A w_{n}\right) \\
x_{n+1}=\left(1-\beta_{n}\right) y_{n}+\beta_{n} \sum_{i=1}^{N} \eta_{n, i} S_{i} y_{n}, \forall n \geq 0,
\end{array}\right.
$$

converges strongly to a point $p \in \Omega \cap \mathbb{F}$ which is also a solution of the variational inequality

$$
\langle(D-\delta G) p, p-q\rangle \leq 0, \quad \forall q \in \Omega_{B} \cap \mathbb{F}
$$

where $\lambda>0$ is a positive real number and $\left\{\alpha_{n}\right\}_{n=1}^{\infty}$ and $\left\{\beta_{n}\right\}_{n=1}^{\infty}$ are real sequences in $(0,1)$ satisfying the following conditions
(i) $\lim _{n \rightarrow \infty} \alpha_{n}=0, \sum_{n=1}^{\infty} \alpha_{n}=\infty$,
(ii) $\kappa=\max \left\{\kappa_{i}: 1 \leq i \leq N\right\}, 0<\liminf \beta_{n} \leq \limsup \beta_{n}<1-\kappa$.

Corollary 2. Let $H_{1}$ and $H_{2}$ be two real Hilbert spaces, $A: H_{1} \rightarrow H_{2}$ be a bounded linear operator and $A^{*}$ the adjoint of $A$. Let $f_{1}: H_{1} \rightarrow H_{1}$ be $\mu$-inverse strongly monotone mapping and $f_{2}: H_{2} \rightarrow H_{2}$ be $v$-inverse strongly monotone mapping. Let $B_{1}: H_{1} \rightarrow 2^{H_{1}}$ and $B_{2}: H_{2} \rightarrow 2^{H_{2}}$ be multi-valued maximal monotone mappings. Let $\Omega$ be a solution set of (8)-(9), $S_{i}: H_{1} \rightarrow H_{1}(i=1,2, \ldots, N)$ be nonexpansive mappings and $\mathbb{F} \cap \Omega \neq \varnothing$ where $\mathbb{F}=\cap_{i=1}^{N} F\left(S_{i}\right)$. Let $D$ be a strongly positive bounded linear operator on $H_{1}$ with a coefficient $\bar{\delta}>0$, G a $\rho$ contraction on $H_{1}, 0<\delta<\frac{\bar{\delta}}{\rho}$ and $\left\{\eta_{n, i}\right\}_{i-1}^{N} \subset(0,1)$ are such that $\sum_{i=1}^{N} \eta_{n, i}=1$. Let the step size $\gamma_{n}$ be chosen in such a way that for some $\epsilon>0, \gamma_{n} \in\left(\epsilon, \frac{\left\|\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2}}{\left\|A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right\|^{2}}-\epsilon\right)$ for $J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right) A w_{n} \neq A w_{n}$ and $\gamma_{n}=\gamma$, otherwise ( $\gamma$ being any nonnegative real number). Then the sequences $\left\{w_{n}\right\},\left\{x_{n}\right\}$ and $\left\{y_{n}\right\}$ generated iteratively for an arbitrary $x_{0} \in C$ and a fixed $u \in C$ by

$$
\left\{\begin{array}{l}
w_{n}=\left(I-\alpha_{n} D\right) x_{n}+\alpha_{n} \delta G\left(x_{n}\right)  \tag{46}\\
y_{n}=J_{\lambda}^{B_{1}}\left(I-\lambda f_{1}\right)\left(w_{n}+\gamma_{n} A^{*}\left(J_{\lambda}^{B_{2}}\left(I-\lambda f_{2}\right)-I\right) A w_{n}\right) \\
x_{n+1}=\left(1-\beta_{n}\right) y_{n}+\beta_{n} \sum_{i=1}^{N} \eta_{n, i} S_{i} y_{n}, \forall n \geq 0
\end{array}\right.
$$

converges strongly to a point $p \in \Omega \cap \mathbb{F}$ which is also a solution of the variational inequality

$$
\langle(D-\delta G) p, p-q\rangle \leq 0, \quad \forall q \in \Omega \cap \mathbb{F}
$$

where $\lambda>0$ is such that where $0<\lambda<2 \mu, 2 v$ and $\left\{\alpha_{n}\right\}_{n=1}^{\infty}$ and $\left\{\beta_{n}\right\}_{n=1}^{\infty}$ are real sequences in $(0,1)$ satisfying the following conditions
(i) $\lim _{n \rightarrow \infty} \alpha_{n}=0, \sum_{n=1}^{\infty} \alpha_{n}=\infty$,
(ii) $0<\lim \inf \beta_{n} \leq \lim \sup \beta_{n}<1$.

Acknowledgement: The first author acknowledge with thanks the bursary and financial support from Department of Science and Technology and National Research Foundation, Republic of South Africa Center of Excellence in Mathematical and Statistical Sciences (DST-NRF COE-MaSS) Doctoral Bursary. Opinions expressed and conclusions arrived at are those of the authors and are not necessarily to be attributed to the CoE-MaSS. The authors are grateful to the organizers of SAMSA

2016 conference for the invitation. In particular, the first author is grateful and acknowledge the financial support from the organizers.
Author Contributions: O.T. Mewomo is the doctoral supervisor of F.U. Ogbuisi. The results presented in this work is part of the ongoing doctoral work of F.U. Ogbuisi under the supervision of O.T. Mewomo.
Conflicts of Interest: The authors declare no conflict of interest.

## References

1. Acedo,G. L.; Xu, H.-K. Iterative methods for strict pseudo-contractions in Hilbert spaces,Nonlinear Analysis: Theory, Methods \& Applications, vol. 67, no. 7, pp. 2258-2271, 2007.
2. Bauschke,H.H.; Combettes, P.L. Convex Analysis and Monotone Operator Theory in Hilbert Spaces.Springer, New York (2011)
3. Bréziz,H. Operateur maximaux monotones, In mathematics studiesvol.5,North-Holland,Amsterdam, The Netherlands,(1973)
4. Browder,F. E.; Petryshyn,W. V. Construction of fixed points of nonlinear mappings in Hilbert space. J. Math. Anal. Appl. 20(1967), 197-228.
5. Byrne,C. A unified treatment for some iterative algorithms in signal processing and image reconstruction.Inverse Probl. 20, 103-120 (2004)
6. Byrne, C.: Iterative oblique projection onto convex sets and the split feasibility problem. Inverse probl. 18, 441-453 (2002)
7. Byrne,C.; Censor,Y.; Gibali,A.; Reich,S. Weak and strong convergence of algorithms for the split common null point problem. J. Nonlinear Convex Anal. 13, 759-775 (2012)
8. Censor,Y.; Gibali,A.; Reich, S. Algorithms for the split variational inequality problem.Numer. Algorithms 59,301-323(2012)
9. Censor,Y.; Bortfeld,T.; Martin,B.; Trofimov, A.A unified approach for inversion problems in intensity modulated radiation therapy. Phys. Med. Biol. 51, 2353-2365 (2006)
10. Censor,Y.; Elfving,T. A multiprojection algorithm using Bregman projections in product space.Numer. Algorithms 8, 221-239 (1994)
11. Combettes, P.L. The convex feasibility problem in image recovery. Adv. Imaging Electron Phys. 95,155-453 (1996)
12. Crombez, G. A hierarchical presentation of operators with fixed points on Hilbert spaces. Numer.Funct. Anal. Optim. 27, 259-277 (2006)
13. Crombez, G. A geometrical look at iterative methods for operators with fixed points. Numer. Funct.Anal. Optim. 26, 157-175 (2005)
14. Deepho,J.; Thounthong,P.; Kumam, P.; Phiangsungnoen,S. A new general iterative scheme for split variational inclusion and fixed point problems of $k$-strictly pseudo-contraction mappings with convergence analysis,Journal of Computational and Applied Mathematics (2016),http:/ /dx.doi.org/10.1016/j.cam.2016.09.009.
15. Eslamain,M.; Eslamain,P. Strong convergence of a split common fixed point problem, Numerical Functional Analysis and Optimization 37:10,1248-1266, DOI:101080/01630563.2016.1200076.
16. Kazmi,K. R.; Rizvi, S. H. An iterative method for split variational inclusion problem and fixed point problem for a nonexpansive mapping. Optim Lett. DOI 10.1007/s11590-013-0629-2
17. Lemaire,B. Which fixed point does the iteration method select?,in Recent Advances in optimization,vol.452,pp. 154-157 springer,Berlin,Germany,(1997)
18. Lin,L-J.; Chen,Y-D.; Chuang, C-S. Solutions for a variational inclusion problem with applications to multiple sets split feasibility problems Fixed Point Theory and Applications 2013, 2013:333 doi:10.1186/1687-1812-2013-333
19. Lin,L-J. Systems of variational inclusion problems and differential inclusion problems with applications.J. Global Optim.August 2009, Volume 44, Issue 4, pp 579-591
20. Lopez,G., Martin-Marquez,V.; Xu,H.K. Iterative algorithms for the multi-sets feasibility problem.In: Censor, Y. , Jiang, M.,Wang, G. (eds.) Biomedical Mathematics: Promising Directions in Imaging.Therapy Planning and Inverse Problems, pp. 243-279. Medical Physics Publishing. Madison (2010)
21. Marino,G.; Xu,H.-K. Weak and strong convergence theorems for strict pseudo-contractions in Hilbert spaces, J.Math. Anal.Appl., vol. 329, no. 1, pp. 336-346, 2007.
22. Marino,G.; Xu, H.-K., A general iterative method for nonexpansive mappings in Hilbert spaces, J.Math. Anal.Appl. 318(2006)43-52.
23. Moudafi,A. Split monotone variational inclusions.J.Optim. Theory Appl. 150,275-283(2011)
24. Moudafi,A. The split common fixed point problem for demicontractive mappings.Inverse Probl. 26055007 (6pp) (2010)
25. Ogbuisi,F.U; Mewomo,O.T. Iterative solution of split variational inclusion problem in a real Banach spaces, Afr. Mat. DOI 10.1007/s13370-016-0450-z.
26. Ogbuisi,F.U.; Mewomo, O.T., Convergence analysis of common solution of certain nonlinear problems, Fixed Point Theory, (2016), (to appear)
27. Peng,J.W.; Wang,Y.; Shyu,D. S.; Yao, J.-C.Common solutions of an iterative scheme for variational inclusions, equilibrium problems, and fixed point problems, Journal of Inequalities and Applictions, Vol. 2008, Article ID 720371, 15 pages, 2008.
28. Shehu, Y.; F.U Ogbuisi An iterative method for solving split monotone variational inclusion and fixed point problems, RACSAM DOI 10.1007/s13398-015-0245-3.
29. Shehu, Y.; Mewomo, O.T.; Ogbuisi, F.U., Further investigation into approximation of common solution of fixed point problems and split feasibility problems, Acta. Math. Scientia 36 B(3),(2016) 913-930.
30. Xu, H.K.Iterative algorithms for nonlinear operators,J.London.Math.Soc. 2(2002), 240-256.
31. Zhou,H. Y. Convergence theorems of fixed points for $k$-strict pseudo-contractions in Hilbert spaces,Nonlinear Analysis: Theory, Methods and Applications, vol. 69, no. 2, pp. 456-462, 2008.
(C) 2016 by the authors; licensee SAJPAM. This article is an online article under the copyright of SAMSA (CC-BY) license (http://www.samsa-math.org).
